AFN-1394 IBBElMl/BTMlMl

B.B.E./B.A. DEGREE EXAMINATION, APRIL 2011

First Semester

Economics/Economics Vocational (Tov=ism)

BUSINESS ECONOMICS—I

(Non-CBCS—2004 onwards)
[Common for B.B.E and B.A. Tourisin I\lanagement]

Time : 3 Hours Naximum : 100 Marks
Section A (8 x3=24)

Answer any eight questions.
Each questioii.csrries 3 marks.

1. What is meant by Biusiress Economics ?

auenfilals QlLmmTn ST 6T6sTHTEV 6T6TERT ?

2.  What ave the scope of Business Economics ?

auem's ClummenngnrsSlest NmLIL ST wreneu ?

3. What is Consumer Surplus ?

BIaTGeuny 2 L1l eT6sTHTEL 6T6BTETT ?



What is Utility ?

LwestLIm(h) 6T6STM M6V 6T6BTENT 2

Define Income Demand.

aumeuml Cgemen — QeEHEmID &(HsS.

What are the measurement of elsasticity of demand ?

Caemeu QpSlpsdufest em N (Daem wireneu ?

State the factors deterinining elasticity of demand.

Caemeu Gy Fsiulemens Siwnefls@n srrenflsemens
Caflel&s.

What are the properties of Indifference Curve ?

gCHBNsE euamenGanL_Iq 65T S6enLDSET WTEne ?
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9. Whatis demand forecasting ?

Caemeu (peviaenfilggen eT6sImT6D 6T6vTEN ?

10. What do you mean by production function

2 pugd) erjy unnl BeS7 inleug wrm ?

11. Mention the concept of law of Lroduction.

2 pHusd eNdlullen &msHeviovs OgfleNss.

Section B (3x12=36)

Answer any three questions.

Each'question carries 12 marks.

12. Expiaia the objectives of a Business firm.

@ euenila Bimiaiensdlesn Crrsssdlene ellens@s.
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13.

14.

15.

16.

Describe the law of equi—marginal utility.

g @niFlBleneos LweuT_(H eNldlenw eleufl.

Explain the Law of demand.

Caemeu elllemw ellens@s.

Explain the types of elasticiiz of demand.

Caemeu OB peflullen enasener 6ll6ns@s.

What are the importance of Short — run and Long —

run forecasting ?

GnISW HTe0 WLOHMID BeswTLHT60 (L 6618 6wvfl Li L9l 6v1

(W& WSGIeud wreneu ?
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17. Explain the Laws of Production.

2 HusS eldlenw eXlens@s.

Section C (220 = 40)

Answer any two questions.

Each question carries 20 ' arks.

18. Describe the role and responsiaties of a Business

Economist.

Q@ auenfla QLnmeTTT) £ K gemevtuimemflest L@, HmILD

Curpilssenen elleufl.

19. Explain the lavw of diminishing marginal utility.

Gmphsl v @miSlHleneols vweTur (B eNllenw

eNlema(®H .
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20. Explain the criteria of a Good Forecasting technique.

21.

QO fAnbs Wensenflly B usdHlen Hlubsenessenen
eNlens @ s.

Explain the Laws of Return to scale.

LB elemema| eXlSlenws eflend @s.

ST W —
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AFN-1395 BBE1M2/BTM1M2

B.B.E./B.A. DEGREE EXAMINATION, APRIL 2011
First Semester

Economics/Economics/Vocational (Tourism)

BUSINESS STATISTICS—I

(Non-CBCS—2004 onwards)
[Common for B.B.E./B.A. TourismI'anagement]

Time : 3 Hours Maximum : 100 Marks
Section A (8 x3=24)

Answer any eigut questions.
All questions cairy equal marks.
1. Define Statistics.. ©xplain the characteristics of

Statistics.
Hemerflullwiev ey mrwimi LemeflufweS eor & ewTndlew migener

eNlens @

2. Bring out the limitations of Statistics.

yemerflulweSenr @empLn(Dsenend Olsmesis.



Describe the significance of sampling.

wrflflulest (peSwsgeusens elens @s.

What is secondary data ?

@ reverLmbd Klewmev smerfl LT eT6aTMTEV wrooTewt ?

How will you prepare a table ?

S L_auenewteniul sTeueumn Sty Qguiely ?

Discuss different'mei:ods of classification.

auensLLBS 5786 LevGauml (pemmaenst eleufl.

What avethe tools required for making diagram ?

Mensasll uLmss swunfless CoHameuwnen &mellser

wmremeu ?
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10.

11.

From the given information, compute harmonic mean.

85, 70, 10, 75, 500, 8, 42, 250, 40, 50.

S0 Qar(ssl UL gaaes6ailed((hhg ov Qenas

FTNFflenws STevors.

85, 70, 10, 75, 500, 8, 42, 250, 40, 50:

What is harmonic mean ?

Benas grnafl stearmmeL eTameT ?

How will you plaisa svatistical survey ?

Hemerflullwiev @xutemeu steueummy S 0Hedy ?

Define *iurtosis. What does it measure ?

FLML 36116 B6VEEHEWID F(THd. | 61HENEV J6TSHMG) ?
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12.

13.

14.

Section B (3x12=36)

Answer any three questions.

All questions carry equal marks.

Discuss the nature and scope of statistics.

yemerflullweS 61 GevTemou|d euDLSBEm6TULD 6leund&s.

What is primary data ? Expiain the methods of

collecting primary data.

s Hleweo eNleurmiger. steniLig wng ? (PHeo Hlemeo

Neurmisenens CeaflLugnarenr (peomaenst edl6ns @s.

Describe the aifferent types of graphs.

euenrUL misefles LeOGoum| euenagseneT eXlens .
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15. Compute Quartile deviation and its coefficient from the

following data :—
Classinterval :4-7 8-11 12-15 16-19 20-23 24-27 28-31 32-35 36-39

Frequency : 6 10 18 30 15 12 10 0 2

etreu(md elleurmisefled(mibg sreowiar sllevsssamsu|b,

SiB6u1 Ol&(pemauu|d Hewstasl (DS,

ey Ben_Qevefl :4-7 8-11 12-15 16-19-20-23 24-27 28-31 32-35 36-39

Boplasr : 6 10 18 .00 15 12 10 6 2

16. Calculate Karl Pearson’s coefficient of skewness for the

following data +=
Sl. No. : 1 2 3 4 5
Marks . 12 18 35 22 18
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Wemeuheuemreummin@ snjeo Bwiseflenn CarlL &
Q& (pemeaus seTTeS (DS
611.6T600T 1 2 3 4 5

wllCuesmger 12 18 35 29 18

17. Compute Geometric Mean from the {silowing :
X . 140 150 160 170 180180 190 200 210

Frequency: 7 13 6 1412 8 11 9 10

S0 sriul L ellurmsenied(Bhg ClLmes Frnafl sevwr(®H
Nig&sa] :

X :140+ 150 160 170 180 180 190 200 210

iemevbleuen: 7 13 6 14 12 8 11 9 10
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Section C (2 x 20 =40)

Answer any two questions.

All questions carry equal marks.

18. Describe the different methods of sampling.*Vrite down

the merits and demerits.

wrSlfl O SS6S 61 LLGoum) (ewmHonen 6Xl6ns@s. NSl

T(DSS651 60T, HETENLD S6WLOSHEMET (i NI,

19. Find the mean, median 2a1:d mode from the following

data.

Age :15-19 20-24 2529 30-34 35-39 4044
No. of. Persons :« 4 2 3 AU 10 9

SP&H6w0 = LUTUIS @ Fal_(HFernafl, Qe Hlemev DML

&) pdlwest sress.

euwg :15-19 20-24 2529 30-34 35-39 40-44
wLTSerflest
oevvenilaens 4 2 38 2 10 9
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20. Calculate a suitable measure of skewness for the

following data :

Class interval : below 10 10-20 20-30 30 -40 above 40

Frequency : 5 18 23 40 8
Wesr eupb eleurmsefledmhg sflwien CamlLser
Q& (pemeaus seTTeS (DS

Wfley @enCeuefl: 106 &p 10 - 20 20 -30-30 - 40 408 Cue

BopQeuer 5 18 23 40 8

21. Findthe mean and stanard deviation of the following
data:

Class interval : 0-5 5-10 10-15 15-20 20-25
Frequency : l 8 25 30 20

SP&E e LUTUNISE Fml & Frrefl womin S

eMeVsc D B6vuTS.

Afley Qen_Clouefl :0-5 5-10 10-15 15-20 20-25

N VAR 2 8 25 30 20

sk
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AFN-1397 BBE2M1/

BTM2M1

B.A./B.B.E. DEGREE EXAMINATION, APRIL 2011

Second Semester

Economics/Economics Vocational (Towrism)
BUSINESS ECONOMICS—I!

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Section A (8 x3=24)

Answer any eight/guestions.
Each question cérries 3 marks.

1. Whatis fixed cost ? Cave examples.

Blemevwinewt Glgene.;. <iesTLIG| WM ? 2 HNTESVIRISBET &(H.

2. Define Selling Cost.

eNlm L 60,uTE GClFevemeu auemTIIMD)].

3. Give the meaning of normal price.

gngnyesst 6lenev 6163TLIG68T GILIMIHET &(HS.



State the law of supply.

Sefliiy eNdlenwis gnmis.

Mention any three features of monopoly

woniflenwullen CTHID PPETM| (FHERTTE|F W EISHED 6T
GSOLAHs.

What is Oligopoly ?

&leoGeony (pomIFlemio eTevinay wing ?

What is monopolistic competition ?

wponiflenies Gunig etesTLg) wing ?

Statu the two conditions for price discrimination.

el emev Ll CusmisrLessrer  KlLbgen e ser

B T6vTIq N6V T )| 5.
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10.

11.

12.

What is Price leadership ?

NleneVs FHEMEVEMLD 6T6ITLIG) WG| ?

Define price rigidity.

allemev Hlenevs SemenLnemil QUEDTIWID)].

Give the meaning of pricing:

elemeoul e 681 GILIMHET SHyhHd.

Section B (3x12=36)

Answer any three questions.
Each question carries 12 marks.

Bring out the relationship between Average cost and

Margina! cost.

gqnefl Qgevelin@w, Fmid Hlenevs Qevaiin@w SenL Gus

2 a6 QlGML_FemLs Clsmevwrs.
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13. Draw supply curve and supply schedule with an

illustration.

Serfliiy Car( woHmib iefliiy 9L L_auenemTenw auenrhbs)

eNlens @ s.

14. Point out the features of perfect comne ition.

Blemmeys Guiniqullent @Gewnd = misenens GNILLEHS.

15. What are wastes of meuepolistic competition ?

wpoHniflenols Guni 1quiled om0 sTesTLIG WG ?

16. Discuss the vattern of behaviour of oligopoly markets.

deoCoimy wpmiflenws shengseflen BLSms SenOLIL
(pewpeow edeund.
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17.

18.

19.

Outline the objectives of pricing.

alemeouil_edlest Crrssmsenen ConCamgl (H &M (H\s.

Section C (2.x 20 =40)

Answer any two questions.
Each question carries 26 marks.

Show diagrammatically the-aature of short run and

long run cost curves.

GnHw wHnwb. Ewxr sre0 Ceeeys Candseflen

BwevenL euenTLL SHIL 68 STL_(HS.

Explain «ririce and output determination under

monopuy

DM fl e o ull 60 el 6m 60 LD M M) LD 2 Hugd
BlrewruissliuGeuensg edlens@s.
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20. Critically examine kinked demand curve analysis.

SmLuupnn Caeneus Car_(H oy iiene Spemie Clais.

21. Discuss in detail of any five pricing metho!s .

lemeorul(hgev (Wewmast gCaein T dewes eflfleuns
efeund).
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AFN-1398 BBE2M2/

BTM2M2

B.B.E./B.A. DEGREE EXAMINATION, APRIL 2011

Second Semester

Business Economics/Economics Vocational
(Tourism)

BUSINESS STATISTICS—II

(Non-CBCS—2004 onward s)

Time : 3 Hours Nlaximum : 100 Marks

Section A (8 x3=24)

Answer any eigut questions.

1. Whatis Rank correlaticn ?

sreuflens L (Dmey-- SIDT6V 6T6vT6s ?

2. Explain the t¢m correlation.

Q@L_(Ome.! eTetTLIENS 6Xl61& G5

3. Whatis Regression ?

Qs Cun& @, eTearmTev eT6vTES ?



What is a Scatter diagram ? State its uses.

Flamev eNlenEaLILIL LD 6T60TMTED 6T63TEN ? G601 LIUIEETS 61 61T
61(LDGI5.

What is an Index Number ?

&SMDIUSL_GIL_65T 6T6ITMT6L 6TEBTENT ?

Write any three properties of regreassion lines.

QariyGurs@s GCar@miutienn gGCzaend eperm

SEVEDLDGENET 6T(LDGIS.

Explain the uses of timu series.

sneowd &ny Cgm._r flensulles LW eTHemens &nm)s.

Explain cyclical variations.

&1p60 Wi NILIM(DI&ETT 6TEITMT6Y 6T63T68T 2

Explain the terms association and disassociation.

QgrLgyeten LOMID CFTLFUDD 6T6OTDH LIS M &ewe6r
eNlens @ s.
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10. Write and explain Fischer’s formula for ideal index

11.

12.

number.

Wes e @nuiL_GlLewsr @S5S r56m5 ell6ns ().

Mention the types of correlation.

L (Omell6i auemas g6 Glanes.

Section B (3 x12=36)

Answer any three cuestions.

Calculate Pearson’s coeffizieric of correlation from the

following data :

X: 45 55 56 <5690 65 68 70 75 80 85
Y: 56 50 48.4a0°0 62 64 65 70 74 82 90

anjev Nwjgsor <o 2L (Dmeys Clapedlemnent sewtadl(H\s.

X: 4555 56 58 60 65 68 70 75 80 85
Y: 59 50 48 60 62 64 65 70 74 82 90
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13.

14.

The ranks of 10 students is two subjects, Accountancy

and Auditing are as follows :

Accountancy: 3 5 8 4 7 10 2 1 6 9
Auditing : 6 4 9 8§ 1 2 3 10 57

What is the coefficient of rank correlatior ?

10 wreswreuiseflesr @resor(n LML BisoTTEN, SevwTaHdwe,
wOHMID Sewfleensulleded Qubm Surmhgsenens Gl resu(H

srauflens L (Hneleness s.Ter.&.

55 8 4 7 10 2 1 6 9
seflsemauiue 95 4 9 8 1 2 3 10 5 7

565015 & LI60

The two equaciens for the regression lines are :

10x =5y +22=0

fx—6y+5=0

Compute (a) means of X and Y (b) correlation coefficient

between X and Y.
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OQm 2Le Qgrgys GCaraseflen &wesrum® aen
10x — 5y +22 =0, 5x — 6y + 5 = 0 ereflev (1) X, Y-6t1
gmnaf] (&) X, Y-8@& QenL_Gw oy el (Hmeys Clapeme

ST6T0TS.

15. Fit a straight line trend to the following data by least
squares method and obtain the trend val=es. Also find

an estimate for the year 1997 :

Year : 1989 1990 1991 1692. 1993 1994
Production
(000 tonnes) : 12 13 13 16 19 23
1995 1996
21 23

SHODHES 6UTSHS (w5 1pevb @b CrrGar_(Hl Cunseans
Qurmsgs, woi—1b Curs@ wSlLseneTuD SHTeTTs.

Cueid 1997- euHLGSl6t1 HLILID Hnevvrs.

aI(HL_LD 1882 1990 1991 1992 1993 1994

2 puSS

(000 Leinzem) : 12 13 13 16 19 23
1995 1996
21 23
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16. Compute Fisher’s Index Number from the following :
Commodity  Base Year Current Year

Price Quantity Price Quantity

A 10 12 12 15
B 7 15 5 20
C 5 24 9 20
D 16 5 14 5

SP&eETerbd NUTksEHsE Wessiar ere| GHuiL®

6T6TITEBIETIT 565018 (DG,

QurmeT  ILiienL yesT(H BL_LIL] 6007(H)

dever  6mey alemev emey
A 10 S 12 15
B 7 15 5 20
C b) 24 9 20
D 6 5 14 5

17. Preparcia 2 x 2 table from the following information
ana calculate Yules coefficient of association and

interpret the result.

N =1500, (A) = 1117, (B) = 360, (AB) = 35.
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18.

19.

Qar@ssiul L aleurmsafled®mha 2 x 2 L aueneswt
2 (Heuns@, Cuaiw Wb Corsmas Gaw s
Ny 58 Sieneu edlensdl gnmi.

N =1500, (A) =1117, (B) = 360, (AB) = 35.
Section C (2" x 20 = 40)
Answer any two questio=s.
Find both the regression lines freia tie following data :

X:12 3 4 5 6 7
Y :9 8 10 12 11 131«

Spaev eleurrisefled] ;g @rever(h Clamiy Cuné@s

Car(hsemnemuyld &nenrs.

X:1 2 54 5 6 7
Y :9 8«10 12 11 13 14

Find Raory Pearson’s coefficient of correlation from the

follavwing data :

Wage : 100 101 102 103 100 99 98 97 96 95
Costofliving: 98 99 99 97 95 92 95 94 90 91
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aniev wigesfles el (Hmeysolspelener sewadl(Hs.

060 : 100 101 102 103 100 99 98 97 96 95
aump&ens lgevey: 98 99 99 97 95 92 95 94 90 91

20. With the help of the following data cor'stiuct Fisher’s
ideal Index Number and verify whevher it satisfies

Factor Reversal test and Time Raversal test :

Commodity  Base Year Current Year

Price Quantity Price Quantity

A 7 4 10 9
B 6 B 5 5
C 5 4 8 6
D 8 2 7 4

Spsaerrr edleurmiseflen 2 gellujen agfler 69 pLuilw
SMITLC_amenennt seisSlL_ (D g STev WLIHMIE
Gangsner wHmibd srrewfl wrHmnE Cargenesenw Henmey
Qewaimgn e1es &l LIMT&HSELD.
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SigLiLienL 3y 600T(h BL_LiL| oy6507(H)

Qunmesi
olene] ey  emey  ellemev
A L 7 4 10 9
B . 6 3 5 5
C 5 4 8 €
D 8 2 7 i

21. Calculate the Seasonal indices+from the following data

using average method :

I 11 II1 v

Year Quarter Quarter Quarter Quarter
1974 .. 72 68 80 70
1975 .76 70 82 74
1976 .. T4 86 84 80
Ty L 76 74 84 78
1978 .. 78 74 86 82
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sneus@NUL_GL_storaenet #rnefl (peomenw 2 LGNS 5815

SM600TS :

QML (PG

S)resuTL_MD eEsTHTLD

16 IT 63T & IT LD

smeonewnt(h  &meonesst(h &Teomesst(F & m6Vm6usT(H)

1974 .. 72 68

1975 .. 776 70

1976 .. 74 86

1977 .. 776 T4

1978 .. 78 o
— W

10

80
52
54
84
86

70
74
80
78
82
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AFN-1399 BBE2E1

B.B.E. DEGREE EXAMINATION, APRIL 2011

Second Semester
Business Economics
FINANCIAL ACCOUNTING—"!

(Non-CBCS—2004 onwards)
Time : 3 Hours Mazia am : 100 Marks

Part A (8 x 3=24)

Answer any eight.questions.
All questions carryv “caal marks.

1. Give the meaning of ‘Rarewal of bill’.

wIHNIESF_Iqemen 1811119556065t QLnbHeflenens &hs.

2. What do'vou mean by Income and Expenditure

Accounuv.?

eumeumil OHMID ClFevellens sevure@ LD Belli oineugy

wrg ?



What is Single Entry System ?

@neonLliudle| (penm 6T6TM 6V 6TevTeuT ?

Explain ‘Nominal Profit’.

‘Camymw eomud’ ellend @s.

What is Average Due Date ?

FTMEf H6UEHETT BT 6T65TM 150 6T6UT6UT ?

State the meaning ot ‘Red Ink Interest’.

‘lalyenw e 1gQunmerflemnest 61(1pG)5.

What iz zale or return basis ?

epuenest () HpHLL IiglILIEnL 6TETMTE) 6T6ITEE ?
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10.

11.

Write the formula for ‘Average Clause’.

grnefl agprsslenes sremib &SI TS5 ene 61(1pGIs.

What are total accounts ?

QIS5 S6v18@HS6T Wireneu ?

What is work certified ?

uewfl Hlemmey eTevImmeL 6TETERT ?

From the following, find the claim to be submitted by

applying ‘Average Clause’.

Rs.
Policy amaount 30,000
Actael Loss of Stock 40,000
Stock on the date of fire 64,000
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12.

Spsnreyd Nlurrsaledmbg, Frrefl a3rssenen
2 LCwHlgg Carrevser Ggremsenw Gum FwFLNSs

Geuevrnigw Ggnensullenens sewwrsdl (Hs.

erb.

uredldlg Clgrens . 30,000

gr&5&(HLILSIEL 2_6TTemLDWITeuT FHL L LD .. 40,000

& Nlug g mrefled #rsdlmLy . 64,000
Part 8 (3x12=36)

Answer any.th -ee questions.

Each quesiion carries 12 marks.

What are acsemmodation bills ? Explain with an

illustratien:

QUFS DT WOSET WTemal ? @F 2 SIremTSsIL 6N

eNlens @ s.
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13. What is “Current Account” ? Explain the different

methods of company interest.

HEOL(PEONH SHEWISHES 6TIMT6Y 6Tawmesr 2  all_lg

s (heugled LieoGeum) (pemmaeneT eSlends,s.

14. Describe the steps involved in recording sale or return

transactions under double entry <svem.

elimuenes () SHLULID BLa 1 .&enasemet QrlenL_Lidle]

weopulest £1p LfleugmaisviLfl(permaenet elleufl.

15. The following Receipts and Payments Account of a

sports club, for tii2 year ending 31st December 2007 :

Receipts Rs. Payments Rs.
To balance 'l 5,000 By Sports equipment 7,000
To subscriptions : By Salaries & Wages 3,000

For 2006 2,000 By Office expenses 400
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Rs. Rs.
For 2007 10,000 By Electric charges 600
To Entrance fees 2,000 By Telephone charges 600

(to be capitalised) By bal C/d 7,400

19,000 19,000

(a) Intheyear 2006, subscriniion of Rs. 1,000 for 2007

was received.
(b) Outstanding sukzcription Rs. 1,500.
(¢) Outstanding Calaries and wages Rs. 1,000.

(d) Depreciatisn to be charged @ 20 % on sports

equipment.

Prepare income and Expenditure of the Club.
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31 &wui 2007 (Wiqul 2 66 (H elemsmum_ (b westodlLp

wenSSlest ClLMIHeVS6T HMID O1F)ISHSHSEVSH6T &6vvTeHS)

S0 Qar(ssLILL_(DeTemert :

ClumIBe0S6T th.  Oee)sgizeomen .
Bmuy &/Qan 5000  ellewemwn(h smed 7,000
FhSNES6T : FDLIGT(PLD &6 3,000
2006 & 2,000 e ClFsveysst 400
2007 & 10,000  1fl61an ClFeveyaer 600
BIDLP6&ELL6WILD 2,000 ~GigrenenGLél Qlgeveyse 600
(epeugemonés Couen(ld ) Beor &/ 7,400
19,000 19,000

(@) _“2007 b gyewrighanest a5 Ggrens ep. 1,000,

2006 1b 9y,66T19.60 QILIDLILIL_L_g).

(b) engr Hleieneu em. 1,500.
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16.

(c) &wbuembd LHMID ned Hleyemeu em. 1,000.

(d) eNewenwurl(@® &@medl WBaresr Csuiwnerd 20 %

erpsLILL Geussor(HId.
westdlpwengSlen aumeumil GlFeeiless gsomadlenens

FSWfl&s.

The following were the expenses ¢n a contract which

commenced onlst January 200C.

Rs.
Material Purchased 20,000
Materials at the exd 1,250
Direct wages 15,000
Plant issuad! 5,000
Direct eipenses 8,000
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The contract price was Rs. 1,50,000. It was duly received
when the contract was completed on 30th September
2008. Charge indirect expenses at 15 % on wages and
provide Rs. 1,000 for depreciation on plant. Prepare the

Contract Account and Contractee’s accoun.

1, memeufl 2008 Qgrmwu @am . eLliukss S e

Clzeveyseng elLrmigsT SCL Clar@asliLil(HeTereur.

.

epeoLIGILIM(BeT Clame(Lpgso a1l gg) 20,000

e eoL1GLImmeT @mSluTiel HHSS) 1,250
Crrigs gnedsen 15,000
Qum) gyeflgsm| 5,000
Crrigs Qaveyser 8,000
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17.

UUBS ellemev eh. 1,50,000 gy @w. 30 B Cadl GlFli_bui
2008 georm uewfl (P HFe L6 CFTENd (Lp(LPeUF)LD.
wenrplitg Gupliul L gl. sFelules 58 wennpss
Clgeveysennenig 15% y@w wOHMID GuTNulen LS mew
Gaiwnewd em. 1,000 eT(pSLILILL G, QLTSS H6wTsHE)
LOHMID QUUBSD HeflsHeur semwrs @ oLflueumenn

FSWfl&s.

M drew upon MN several bills uf exchange due for

payment on different dates as inder :

Date of bill Aizount  Tenure of the Bill
Rs.
2.10.2007 600 3 months
20.10.2007 800 2 months
10.11.2¢67 1,000 3 months
27.211:2007 750 3 months
8.12.2007 900 1 month
16.12.2007 1,200 2 months

Find out ‘Average Due Date’.
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M etesrueu; MN 155 Lev wipmi& S_Dasemen erpdles.
S e sHsNsaTear LGCan Codaar G

o _6IT6IT6UT.

wrHnEF e Cadl Clanens DIH LSS 1607

(em) seoLd
2.10.2007 600 3 LOMGEIG 6T
20.10.2007 8CC 2 g misem
10.11.2007 1,000 3 LOMGEIG 6T
27.11.2007 750 3 LOMGEIG 6T
8.12.2007 900 1 wrsw
16.12:280 1,200 2 wrpmigem

FTIEL $6U6N6TT HTEM6NS &evuTdhd (.
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18.

19.

Part C (2 x 20 =40)

Answer two questions.

Each question carries 20 marks.

Discuss the procedure to be adopted in tlie conversion
of the books maintained by single entry:to double entry

system.

urmpfl&@n ghasamet enemp. wdley Wenmuled ®Hbg
@rienliudle| (pewnd@ 2rwnwGung Wesumnme emer
auldl (pemmaenst efleund).

On 1st July 2007, Ealu draws an accommodation bill
on Amar for .tz 2,000 for 3 months period. Amar
accepted the rill. Balu discounted the bill at 6% p.a.
and gave naif the proceeds to Amar. On maturity Balu

pays P<. 1,000 to Amar and the bill is duly met.

Make the entries in the books of the parties to record

the above transactions.

12 AFN-1399




20.

1, 299emev 2007 yeTm) @R(H uFS| 2 6vvTiqwieneo em 2,000
S55N@ 3 1S SHTEORGSET 2 6TEMeNG LITEY| 6TESTLIEUT LD
Bg) 1S ADIT. Si0F SBS WIHDIFF KNG QLS
SeflSSTT. LMY SiBS IHMIFF L ) 60orol 63T &)
6% eul_L g GlFuig I50FTemauled Lindlenu: 9b[HsHE
Qar(hssy. 6la® prefled LimeY emh. 1,000 Sev.% HLD([HEE
QaT58 SiBS LINNIFSL (D (PODLILIG DoSGSLILL L g).
Cuevieem BL g Semasemen @ HLje e ef(Dserled
udley QFwis.

Fire occurred in the premises »f Mr. Z on 10th May 2008.
The following are the detaiisirom the year 2005 to 2008.

2005 2006 2007 2008

Rz Rs. Rs. Rs.

Opening stock (1,000 15,000 16,000 18,000

Purchases 41,000 47,200 56,600 78,000
Sales 60,000 66,000 78,000 99,000
Closing stock 15,000 16,000 18,000 ?

The stock salvaged was Rs. 3,800. Compute the amount

of claim.

13 AFN-1399




10, G 2008 jeoimy . Z eteriueuflen euennasdHler &

Nlugg BLBSE. 2005 (paed 2008 euenrullevnest el LiTmIs6T

SCLp 2 emerent :

2005

Cr.

QYTLDL FT&S LI 16,000

Q\&mem(LpE60 41,000

eSIDLismeT 60,000

Bni8) srsdlmLL 15,000

15,000

47200

40,000

16,000

2007

16,000

56,600

78,000

18,000

18,000

78,000

99,000

Bleiul L =pefl@uy ep. 3,800. CarrGeustoriqu

Qaremasemnw seuad(Hs.

14
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21.

From the following information, prepare all the

adjustment accounts under the self-balancing system.

Balance, 1st April 2008 :

Debtors

Creditors

Credit sales for April

Credit purchases for April

Cash received from customors

Bad debts written of

Charges debited ‘o customers

Discount allowed to Debtors

Rs.

20,600

11,500

40,300

19,390

28,400

700

150

1,400

15

Rs.

Cash paid to ‘uppliers 15,600

6,100

Bills pavehle issued

400

Dizeount received

Bills receivable received 9,600

Amount received from

customers whose accounts

were previously

written off 400

AFN-1399




s1Gen sflal_(Hw Wwenpuilesr £p emersg flal(H

SHEVTEH G SHENETU|LD SLp&Mem| b eSluTmisafledHHg Swrflss.

By, 1, glire 2008: ¢
sLenmeflge 20,600
aLafbCamaer 11,500
GILITR) LIBG Sl

asLen ellpLinen 40,300
GILITR) LIBG Sl

L6 OlanaT(pge 19,800
auig Gema il mke)

Qun Qrrsen 28,400
QUTTEHL SO (oL 180l8(pSLILILL | 700

aungenaw 155 Glgevayser LnGInpglug 150

aL_ennatls@ma@ senenLly. Sieflsssl 1,400

sk

ar6a6MagemHE micsD

Qegygdlug 15,600
Qo AL

iy iEE () eupridlwg) 6,100
ST, QLS 400
AT TR0

OLnmgy 9,600
(e

GunsOlapsiuL

BeE160 (Hhg) QUM HME

wrsnflib Quhms Qg nens 400

16
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AFN-1400 BBE3M1/

BTM3M1

B.A./B.B.E. DEGREE EXAMINATION, APRIL 2011
Third Semester

Business Economics/Economics Voczuional
(Tourism)

MONEY AND BANKING

(Common for B.B.E. and B.A. Tourisirz M anagement)

[Non-CBCS!
Time : 3 Hours Maximum : 100 Marks

Section A (8 x3=24)

Answer any vight questions.

1. Explain the term Raney.

‘LiewoTLD” 61601 IS Flemert ell6mss & .

2. What do'yeu know about the term ‘Barter System’ ?

‘wesTOIHM| (oo’ eTesTD LG LHN BT ileug wing ?

3. Whatis ‘near-money’ ?

LewsTd GLiTetTm &) 6T6vTMM6L 6T6UTEN ?



Explain the term ‘Paper Money’.

‘srélg LewTD’ erein LIGSSlemert 696 EHs.

Write the Secondary functions of money.

LewsTaSlest @ reverL_mibd HlemevLiLienflaener 61:10¢)5.

Define a ‘Commercial Bank’.

Q@ euenila eunidlullene euemyuin.

What is branch banking ¥

Slemer eumilufwied sTesTHT6D 6T6BTERT ?

Explain the term ‘Dear Money’.

‘&L JLUewTID 61601 LIS G S ement ellernds @ s.

What is Debit Card ?

SHL_60T S|L_6B)L_ 6T6VIMITEV 6T6TTET 2
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10. Explain the term lender of last resort.

‘senL_8l& sLetGeuny eTenim LIGSHS emevt ellend @Hs.

11. Whatis Credit creation ?

&L_63T 2_(IH6UTE (&HS6V 6T63TMIT6V 6T6BTEH 2

Section B (3 x 12 =36)

Answer any three cuaestions.

12. Distinguish between/vianey, Income and Wealth.

L6esTd, eU(hlLTerd WLOHMWL OCerss Beneusener

euGleunenn)l <51 g CouniLbOS3is.

13. Why dawe hold the money ?

IHITLD 67637 LIEWSTSHemnS eneusH) (haEHCnmD ?

3 AFN-1400




14.

15.

16.

17.

18.

Explain the Fisher’s equation theory.

Weg e werrLim_(h CarlLimiqenes elend@s.

Write the functions of a Commercial bank.

e euenile euridlulles Liewfllsenen eSS,

Explain the traditional functionv.o! RBIL.

BndHw fereu ecumiSlullen eupsainte Liswllsener ell6ms@s.

Explain the role of any rour cards issued by the bank.

amdure Qeusfllllliu@o gCaew BremE

SIL_enL_gerfl6u1 Liewll gemer 61(p&15.

Section C (2 x 20 = 40)

Answer any two questions.

Analyse the features of different forms of money.

uevGeaum euigeflevnen LiewTSSl6tT SHEsTENLOHENEN SIS,

4 AFN-1400




19.

20.

21.

Explain the Keyne’s Income theory.

SevterSlevt 6u(HLOMESIS GCHMTL_LITL 1q 60601 6916118 (&H35.

Discuss the role of non-banking Financial Institutions

in developing a country’s economy.

Q@ BIL_lges QUTHETTSITEHMS (Y oolseDmeuSled eumid
Seveuns Kl Blmieuenmigerlen Liailenen eleund).

Explain the merits and demerits of A.T.M.

gresflwmid LewTe. eob s@HeNulles HemennS6T MHMmILD

Sii@aener eXlenad@s.

skkok

5 AFN-1400




BBE3A1

AFN-1401

B.B.E. DEGREE EXAMINATION, APRIL 2011
Third Semester

Business Economics

Ancillary—BUSINESS MATHEMAT!CS—I

(Non-CBCS—2004 onwards)
Time : 3 Hours Mazia am : 100 Marks
Section A (8 x3=24)

Answer any eight.questions.

I logh 1
oga _logb _ 08¢ Lrove that abec = 1.
q—-r r—p p—¢g

1. If

loga _logh _ lov< ioficy abe = 1 eten Bemud.

=— =6
)

q-r r—p p<d

v » p+qg-1 g qg+r-1 b r+p-1
2. Simplify A~ X' X ,
k x1 x" x?

» p+qg-1 g qg+r-1 b r+p-1
S (H & (S ° X X X
®mESS | = X .
x1 X x?




A watch when sold for Rs. 240 yields a percentage profit

equal to the cost Price. Find its Cost Price.

Q@ S&MD oh. 240 &@ aln@w Gurg eoru Fzeisb
IS LSS lemevsi@HE FLWLIHMG 6T6SINHND | F6vt

SIL&56en6v eTeutestOluesTm| S6vuT(HILllg..

Find the point of inter section ¢f the two-lines.

5x+3y=7,3x—4y=10.

5x+3y=7, 3x—4y=10e1emr_cpisCarsen Gleul g8

QlaneTEmLd Lemerflullemestds icturs.

2 4
A {6 8} find the trahspose of the matrix A.

A{z 4]

6 " -siesfleo @eur Hlrev, Hlewm wIHMI 3ewflemwws

ey

Find the slope of y=-5x +38.

y=-5x + 8 e1681m CHICHTL_1q 651 FMILI6Y HT6TIIS.

2 AFN-1401




10.

11.

Find the rational number of \/5 , y, V2 , xﬁ .

V3, y, V2,47 SpFlweneuserfled eldlspm 61658 SHevorss.

bc ca ab
Find the value of log e log 7t log .

be ca ab | . .
Log e log 7 log e &L/ L] ST6ToTS:.

If A={1,3,5,7} B={2,4,6,5/then AnB="?

A= {1, 3,5, 7} whHmid =12, 4,6, 8} T68TLIS B &6TTIRIG 6T

etesfleo ANB="?
If A=[1,3,5,2311,13,15] find AT.

A=[1.53,7,9,11,13,15] steflev AT 67 nSliemLIS: &6vors.

AU(BNC)=?

AU(BNC)=?

3 AFN-1401




12.

13.

Section B (3x12=36)

Answer any three questions.

If X={5,6,7,8,9,10} and f (x) = 2x + 4, then find
1(5),.7(6). £ (7). 1 (8). 1 (9). f (10).

X={5,6,7,8,9,10} erewmeyid f (x) =¥ 2x + 4, eTevieyid
Qar®@ssreo [ (5), £(6), £ (7).718), f(9), f(10) -6

SIS Srever.

Solve :

xX+2y+3z=0
X' 3y + 20 =11
3x—4y+7 =0

166

x+2y+3z=0
X' +3y+20 =11
3x-4y+z =0

4 AFN-1401




14. (i) Findthe equation to the line which passes through

(3,—-2) and cut - off equal intercepts on the axes.

(i) Find the equation of the straight line through
(2, 5) and making equal intercepts of gpposite sign

on the axes.

(i) esweul (S gewwT(H&H6T Glaiawie. G (3, —2) etevtD
yereflulllenr euflunss QFeae)d CuyGamiiqes

FeoTLN(h) &MevuTs.

(ii) &wwnes eiflidlena biril (DS GievoT(DS6T GlGmesuTL GILb
(2, 5) etevim._wenofluflenr euflwnss GlEeoed

CrrCan s werLin srews.

15. Find the irverse matrices.

CriywTiy oewnflsem srevus :

2 4 6 6 3 12
A=|6 13 12 B=|6 8 7
7 8 9 0 1 2

5 AFN-1401




16. Ifthe cost function C (x) of producing x quantities of a

17.

product is given by C(x)=500x"+ 2,500 x + 5,000 and
if each unit of the Product is sold at Rs. 6,000 then what
are BEP ?

x -Qurmertseafless gurfliys Qsvsy  sniy
C(x)=500x* +2,500 x + 5,000 eresrmitd, . epeuGeunq
Qunmeflesr ellpuenes ellemev . e 6,000 eTeTmyid

Qar@&asLliuLl L mev, FHlaT LsT(ncenens et (HLillg.

If x=1+a+a”+..0, y=145F+b*+..0and

|a|<l, b|<1. Show thevl ¥ ab + a* b* +,,,00:L_
x+y-1
x=l+a+a’ 4w, y=1+b+b>+.. 0 HMID
|a|<l, b|<]‘ 61601160 1 + ab + a” b* +...002L6T60T55
x+y-—1
3 (IG5

6 AFN-1401




Section C (2 x 20 =40)

Answer any two questions.

18. The data below is about an economy of two industries

P and Q (1 unit = Rs. '00, 000).

Producer User Final demand To:al output
P Q

P .. 10 25 15 50

Q .. 20 30 10 60

Determine the output when the final demand changes

to 35 for P and 21 for/w:

Bneuermgst Pwhmn Q-elen 2 pusdlujd g6
Coemeusepi. “blneaamaaier Oealssnrms
Caemeusen 1 0@ = en. ‘00, 000) :

EU6YTLD Ineusigdlen  Cleueflgenemsuies  Oongs
! By 5

Gaemeu Caemeu iy
P Q
P . 10 25 15 50
Q .. 20 30 10 60

7 AFN-1401




19.

20.

Qeuefleenemgulenn Coemeuser P fimeuensdnE 35
2p5aD, Q-5@ 21 g sa|b 2 wmbGLNg), Hineuerhgstles
Qwrss swrfllienu senflésea]b.

Solve by using matrix method :

jenflsemen LweTL(HSS Sies :

S5x —6y+4z=15
Tx+4y—-3z=19
2x+ y+ 6z=46.

Find the differential co-efiicient :

7x5+9x4—7x3+ll+i+iz—ls
x x° x

UEDSS 0B &TevT :

7x° 4 9Jc4—7x3+11+§+iz—l5
x X x

8 AFN-1401




21. @)

(i1)

(iii)

@)

(i1)

(iii)

Find the adjoint matrix of A if A =

[l
RN O
—_— N =

Solve : x* +y”> =89,2x +3y =34.

1 3 51 .
A - X, ,B=[ |,4X:Ber6uﬂe\> X -z
4 2 X5 LI
ST6U5TS
1 0 1]
A=10 2 ;iera‘]e'\) A -6t Cariiy 6wl sevorss.
0 3l

8 x> +9° =89,2x+ 3y =34.

skkok
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AFN-1402 BBE431

B.B.E. DEGREE EXAMINATION, APRIL 2011

Fourth Semester

Business Economics

FISCAL ECONOMICS

(Non-CBCS—2004 onwards)
Time : 3 Hours Mazia am : 100 Marks

Section A (8 x3=24)

Answer any eight.questions.

1. Define Fiscal Economics.

Bldludwied Qunmerflwicd exemguimy.

2. Distinguish vatween progressive and Regressive rates

of taxation.

auenfels eufl. Cauweyefs euflbmrHMs@GL o 6rem

Geviiyimg.emest nmis.

3. What is Public expenditure ?

Clurg) Claevedlevid sTEsTMTED 6T6TTENT ?



What are the sources of non-tax revenue ?

aufl SIHM U (HEUTUI PLPEVBIGET WTEHE ?

What are the installments of fiscal policy ?

Hl&ls Clanemenasulles smelsem wneneu ?

What is meant by direct tax ?

Cri (paeulfl sTerTmTev 6T6BTEs7

Why do public debts (inirease in modern time ?

meler BrevgHes Ol ing) sLesia6r e16st s flaSlenmg ?

State the.various types of budget.

aurel-lgeve| SlL_Lsdlest LeoGeum) auensHeneT nmis.

2 AFN-1402




10.

11.

12.

What are the urban local bodies in India.

BT 2_6TemTL_& emILIL|S6T wireneu ?

What are the measured adopted for contrciiing public
expenditure in India ?

78 OFevellensens sL_(HLOSHSDEToT [HL6UIGEHEDSHSET
wreneu ?

What are the three main fui<tions of budget policy ?

aure|-Olgeey Sl L g (padlw epestm Claweoum(ger

wmremeu ?

Section B (3x12=36)

Answcr any three questions.

Compac:e private and public finance.

gesflwny Hlemwwyod, Clung KlHeowujw UibHs.

3 AFN-1402




13.

14.

15.

16.

17.

Examine the effects of Public expenditure on

production.

2_mugdlumeny Goev 2_emem ClLING) 6SleweTeysemer 2y Tmiiis.

Explain Adam Smith’s canon of taxation

SpLLb evIlGHlest eufl ClameTengenia NliensE).

Describe the merits and den.>~»its of direct tax.

Criws eufluller mestenn. Senaemer alleufl.

What are the causes for the growth of public
expenditure.

Clung) C=scailest 6u6mT&FS &S TE0 HTTETTRISGET WTEHE ?

Expiain the sources of local finance.

2 erenmL_& HlFludlest eumeumi epevmisener eleufl.

4 AFN-1402




18.

19.

20.

21.

Section C (2 x 20 =40)

Answer any two questions.

Explain the methods of debt redemptions.

sLeneut H(HLIL ClFe) s8I (penmaener ellea:fl.

Explain the role of indirect taxes in developing

countries.

eueihgl U BrHs6rfled wesmps euflaefles Likidlener
aeul.

What are the objectivcs and effects of deficit financing ?

uppr@enm i wles ClameTenaaer, elensme|ssT wWreneu ?

Discuss.tiie recommendations of Twelfth Finance

Comraission.

uestesflrersTL_meug) Bl @ pedlen Lfibgenrsener eleund).

skkok
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AFN-1403 BBE432

B.B.E. DEGREE EXAMINATION, APRIL 2011

Fourth Semester

Business Economics

MARKETING MANAGEMENT

(Non-CBCS—2004 onwards)
Time : 3 Hours Mazia am : 100 Marks

Section A (8 x3=24)

Answer any eight.questions.

1. Define ‘Consumer behavien’.

‘BETCaUNT BLSna 6xted SLm).

2.  What are buying motives ?

QUMMEIGHLN & IhGISEVSET Weneal ?

3. What is Consumer decision making ?

BIaTCeunT (POl SSH60 6T6SIMTEV 6T6BTET ?



Explain ‘Product Modification’ ?

‘@Qunmenen &fl Q&g elens@®He ?

What is Brand Name ?

SfemL_wimemdlL_eSl6sT GlLIWIT 6TESTHTED 6T507sb1 ?

Write the meaning of ‘Packisg™

&L_(D\LOLD 6T6sTLIG 68T Ol LIM(Th6ismI6DT 6T(LP SIS

Who is a retailer”

Flevevemm eSlwrTumf) eTevTLIONT WTT ?

What'do you mean by Vertical marketing system ?

Clemi@sg Fhenauilwe (penmLt unml BellT Sinfleug) wing ?

2 AFN-1403




9. Define ‘Advertising’.

‘eflembLITD’ uEDTWID).

10. Write a note a ‘Media selection’.

‘oar g Ggey GClawiger’ upMw GBIl NienTs.

11. State any three objectives ofFales Promotion.

puenesr Cuopurl (' Crrésmsealed gGzea b

PSS D 6VTE T 1)1 5.

Section B (3x12=36)

Auswer any three questions.

12. Defitia Marketing. Explain its nature and scope.

ghenauWlled euenTWm. ST QO &6T LbMHMmLd

auenTolweveneveniL 66 @s.
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13.

14.

15.

What is Market Segmentation ? State its merits and

demerits.

Fheng LUMEGUT(H 6T6TMN6D 6T6TT6sT ? DI H6UT [HESTEN LD 61T

LDOHMILD SEDLDHED6TS o (1)[5.

Enumerate the various stages in/tiip ‘New Product

Development’.

HSw Qunmer euenj&s Qv ueoGoum Hleweosenem

QIO LTS

What is ‘Branding’ ; Distinguish it from packaging.

aunewflL  SjemwwremdlLed 6TeTMT6D  eT6vTEON 2

sL_(Dwren s led (hig Bsemen CaunLts55)s.

4 AFN-1403




16.

17.

18.

Define ‘Wholesaling’. Explain its functions.

‘Corgg eNlwrumyd’ euenTwm). iS6st Liewflaenem 6llemd @s.

Describe the limitations of Advertising.

eMenbursdles Sewwaenst eleufl.

Section C (2 x 20 =40)

Answer any two cuestions.

Discuss the role of marketing with special reference to

India.

GPLure Qrglunenas CUINISSelenT &hengulluled s

Lkifleme eleund).

5 AFN-1403




19.

20.

21.

Explain in detail the various steps in the consumer

decision making.

B&TCeury i oa@sselen LeoCoum Hlemeoasemnen
eNlfleuns ellens@s.

Define ‘Channels of Distributior’. Describe the factors

to be considered in selection of Chaiinels of distribution.

‘QULPEISE euLfl (LD’ aUEDF . aULPEISE euLfl(penmullenest

Carey Qawiw Kliewrulls ey snyenflsenet edleufl.

Discuss the.wvarious tests used to measure the

effectiveness of advertising.

enioiy  GQewevdlpemesr yemellGb L Goumy

Cangenenigenen eleund).

skkok
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AFN- 1404 BBE4A1

B.B.E. DEGREE EXAMINATION APRIL 2011

Fourth Semester

Business Economics
Ancillary—BUSINESS MATHEMATICS—II

(Non CBCS—2004 onwards)
Time : 3 Hours Maziix am : 100 Marks

Section A (8 x3=24)

Answer any eigh! cuestions.

1. Derive the Differantiai Quotient rule.

UESS01& (L Vst auEGHSS60 elSlemw 6T(LpSIs.

2. Find out the differential Co-efficient of the function

y =e”.

y = e* e16v1m FMTLMN (& 6uemass6la 1 Srevwr




Find out the differential Co-efficient of function

y = 2x3 + cos x.

y = 2x3 + cos x T8I FMTL G 6U6emds0ls(penal

&6se1(pILYlLg..
What is the Total Cost ?
Clorgs grnefl eresImTeD 6T65TEN ?

: dy
If y = log (sinx) find i

d
y = log (sinx) erexflev d—y S HI6TBIS.

What is the Production Equilibrium ?

2 HuGF) Finln60 6T6BTLIG) 6T6BTES ?

if

d
N _ a2 df 'l
IfE (c.y) = 6x“ + 5xy + 2 find Axand dy

d
F = (xy) = 6x% + 5ay + 2 ateflo ¥/ opmuip ég}&k

ST6U0TS.
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10.

11.

What is the Cost minimization ?

L& Llaeuenel GEnMLILIG)| 6T6STLIG) 6T6sT6N ?

d
Ifx=2t: y=2¢ find 2
dx

d
x =2t :y =2t etevflev d_i ™S SHT6TTH.

What is mean by maximum 7

WBLIGILIH eT6vTLIG) 6T6vTONT 2

What are the usce.ot linear programming ?
progr g

Qurmeflwer’. CrrCar(m S 16 sedew

6T68T60T ?

LI Wl 65T
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12.

13.

14.

Section B (3x12=36)

Answer any three questions.

()C+2) dy
Ify_az+)c2 find dx
2
(x+2) dy
Y 7, 2 6T e\)d % SN6vUTE:

2

d
If y = x2 cos 3x find y
dx

72
R .
y =x2 cos 3x eresfled 5 &g Hnevurs.
AW

The Total Cos* runction C of manufacturing a certain

108

article 12 given by the formula, C= 25+7+2 2

wherew is the number of articles manufactured, find

the iinimum value of C.
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15.

16.

@@ ounmefler 2 DuSH JLsslemer anjy e
eu@LIM Qarhssiul_(eteng. @Femiiler x eremLig)

2 UGS sjev@set, enjliles &M wSlliewLs snevss

108

C=25+—+2x%.
X
3 2, 4,3 xd—z+ £—3z
If Z = x°+ xy“ + y° prove that > y dy
dz dz

— 3 2 3 : X— +py —=3z .
Z = x°+ xy° + y° eefloy It ydy 61601 &
FRUNF&&ea .

¥, d*z d*z

IfZ =3xy —y3 +((y} - 2x) ? prove that

dx dy - dy dx

d’z d’z 3 d’z ’
and alsenrove that 72 & \dxdy

d’z B d’z o
dxdy  dydx 'oDOIL

Z =3xy—y3+ (y2 —2x)% eTevflev
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d’z d’z [ d’z ’
dxz.dyz_ dx dy orew Bpioys.

17. Solve the following L.P.P by graphical method.

Maximize

Z=3x+2y
subject to x— y <1
xX+y=2

x, y2@

Spsaeni L.P.P o sumruLib epeod Siés.

BLQu@m Z=3x+ 2y

sl_(uury— 5 <1
X+y=3
x,y2>0
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18.

19.

20.

Section C (2x 20 = 40)

Answer any two questions.

log (3 + 4x) dy

I Y= sy fnd

_ 10g(3+4x) iy dy .
4x° + 5x—9 TRV — - g3 sname:,

If v=

_ [l+x W .
Y12 eTeufl o B Snews

Find the wisaximum and minimum of functions

y=x"— x4+ 5x3 -1

y =22 —5xt + 5x3 — 1 ereop eniOm@ BLCLW Sedm)

wSLienLIS STevwrs.
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21. Solve the following LPP

Maximize

Z=35x+80y
subject to x + 5y <150
x+2y< 90
3x+y< 150
x-y2 0

Spsaeni. L.P.P o eusnruLib poad Siss
BLGlum Z=35x+80
s_(uunr@ x+5r <7150
x+2y< 90

3x+.ys 150
vy 2 0

skkok
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AFN-1405 BBE531

B.B.E. DEGREE EXAMINATION, APRIL 2011
Fifth Semester

Business Economics

MACRO ECONOMICS

(Non-CBCS—2004 onwards)
Time : 3 Hours Mazia am : 100 Marks

Section A (8 x 3=24)
Answer any eight.questions.

Each question carires 3 marks.

1. Whatis circular flow'et income ?

61 (IF,LDITEDT &LP6V 621 .L LD 6T6STMHTED 6TETT60T 2
@ LP6V & D

2.  What do you nean by National Income ?

Cadlw ~u HLomesID 6T6Tm 6L 6T6TET 2

3. Define Aggregate Supply.

Cwrss Iieflliemu euenrmnS&e|b.



What is meant by Consumption Function ?

BIST6F SMTL| 6TETMT60 6T65T60 2

Define the term ‘Multiplier’.

‘Cumss — euenyuim).

Give the meaning of Trade C:cie.

eunewflLig &ipedlest ClLINHEY TS H([HS.

State the meanii:g of Inflation.

LesTeS &L 6TETLIG 68T OILIM(HEDENS &(H.

Writea short note about ‘Demonstration Effect’.

2 ewrj&dl Gleusfliun_ () eSlemene] @nsSs HAmny Gy

6L6MIS.
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10.

11.

12.

Give the meaning of Income Policy.

au(mTes ClameTeng ullest ClLINmHEm6TS &(hHs.

Define ‘Monetary Policy’.

‘LiesoTS ClETETENSENUL 6L TN SHS 6L

Synthesise the leakages of Muliiplier.

QuBSS sdlene uemnaLILINSIS.

Section B (3x12=36)

Answer any three questions.

Each:question carries 12 marks.

Analyze the difference between Micro Economics and

Macre Economics.

5| 65T 6wl w1 60 QurmeTTaTTSSH M ELw, Cuflweo
QurmentgmrsSHn@n Qen_Cuuwrer Coumirsenst

SIS,
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13.

14.

15.

16.

Explain the difficulties in calculating National Income.

Caflw aumonend sewstadl (Hgedleo 2 smer L&l eneviaemer

eNlens @ s.

Synthesise the factors determining consumption

function.

B &T6|& FnyenU 67 6w 24 & (& b & IT Iy 6501l & 650 61T

aImSLILNOSI 5.

Discuss the factors atiect.ng investment.

PPEVSETHENS 111 5@ srrenflasner elleundleseab.

Evaluete different phases of Trade Cycle.

eunewtlLEapeSlen LIoGeum Hlewevaener wH LN Hs.
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17. Explain De-flationary Gap.

uewteun_ L @enL_Oleusflenw elens@s.

Section C (£2.x20=40)

Answer any two questions.

Each question carries 20 mar-ks.

18. Analyse the different methcds of measuring National

Income.

Caélw eugmLonestid semr&inhgedes LeGeoumi (pewmaener

SIS,

19. Critically evaluate the Keynesian Theory of

Employiaent.

Senieflenr GCeuemev eumiiigs Garlurlen I gew

GHODEHE6NE &L_1q.5SMLLg S LN (HS.

5 AFN-1405




20.

21.

Discuss Demand—pull and Cost—Push Inflation.

Caemeu @ wOHMID ClFv6] FeTEn LTTSSHS5 M
Neundls&a,L.

Describe the various methods of controlliiig Trade Cycle.

eunewflug &0 H_OUUBSSH 0 LGaum (Pemmaenst
aeul.

kokok
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AFN-1406 BBE532

B.B.E. DEGREE EXAMINATION, APRIL 2011
Fifth Semester

Business Economics

INDIAN ECONOMY—I

(Non-CBCS—2004 onwards)
Time : 3 Hours Meaxi~um : 100 Marks

Section A (8 x3=24)

Answer any eighi{ yuestions.

1. Define under developmerit.

est il CummaTisiiy euenjsdl euenwim).

2. What is meart by Mixed Economy ?

S60LIL| CUT(B6TISTLD 6T6STMTE) 6T6T6NT ?

3. Whatis Capital Formation ?

PLPEVSEVT S GLD 6TEITMITED 6T63TET 2



Define Physical Capital.

LIBLGILITHET pLPEVSEUILD eUEDTIIM)].

What is meant by density of population ?

&6 0G0 LTSS 61D 616576 7

Define Poverty.

6UM|6MLD GUEHTUIM)].

Explain inequalities of income.

QU (HLONET FNMFHTLPem6U 668 EHS.

Whatis Cyclical Unemployment ?

apnd Ceuemeoullesuremio eTevImTEV 6T6BTEST ?
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9. Define Green Revolution.

L&emLD T8 euenyuimi.

10. What is Industrial Policy ?

QamflnH CsmeTens sTesImTEL 6T6vTEN ?

11. What is meant by small scalciudustry ?

&ml 78 C\F L6V 6T6aTIMTEL 6vvT6owT ?

Section B (3x12=36)

Answer any three questions.

12. What are the features of underdeveloped economy ?

Newr rdw Glunmemngnysslen Quico 6T wreneu ?
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13.

14.

15.

16.

What are the causes for low capital formation ?

(SHEOMEUTETT PLPEOSEU 5SS DESTEUT STTETBTHRISEN WITD6 ?

Discuss the features of India’s Population

B@ndlw waset Ogrensulles uicoLsens T eleufl.

What are the causes for Poverty in India ?

B BSHwinellev oM eSS T6T SHTTETTRISET UITEH6 ?

Explain the role ot Agriculture in Indian Economy.

@nHw Qurmpentgrrssler Ceuennemwrenwulen LGS

eNlena@&hs:,

4 AFN-1406




17. Explain the different types of Unemployment.

nevGeum auensuwinen Geusmeoullestenoeni ellens @ s.

Section C (£2.x20=40)

Answer any two questions.

18. Describe the important poverty alleviation

programmes.

WpaEW aumiend LIl St L Eisenen 6568 Es.

19. Explain the various causes of unemployment in India.

@ndwuneisy CeaumewWeremwssrear  LeGeaum)

SNTETTI e, 6T 6X61TEH(E)5.
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20.

21.

Discuss the role of small scale industries in Indian

Economy.

@ndlwu Curmetismrsder m Gamfleoseflesr Lkieans
aeul.

What are the causes for law. pgroductivity in

Agriculture ?

Ceusmremremwuiled @Gewnihg 2 HuSH Fmen & @ flw

STTETOTRISHET WG ?

skkok
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AFN-1408 BBE5SE1

B.B.E. DEGREE EXAMINATION, APRIL 2011
Fifth Semester

Business Economics

Ancillary—Optional —-FUNDAMENTA LS OF
COMPUTERS

(Non-CBCS—2004 onwaxdls)

Time : 3 Hours Maximum : 100 Marks

Part A (8 x3=24)

Answer any eight cuestions.

1. Give any three reasons tur using Computers.

senfllOurienw >_LSwrdluugn@ gCzenb epem

ST 6TTTBISHEDENT Foli 1.

2. Define Sotiware.

Q6N QLMHET—euenTIm).

3. Give the expansion for BASIC.

BASIC—ert (ip(p Qgm_flenewn 1081



Mention any three High level Languages.

aGaenid eperm 2 wihlemer Gomflasefles GlLwsHenet

61(LDSI5.

Define Variables.

LOIH&eT euemTuIm).

How to use PRINT statement ?

PRINT—eunsflugeng ereraurm LwerL(OSgeug ?

What is the purpose o1 wsing DIM statement ?

DIM-eunsdlwugms eignans Lweru (RS SHEnmn ?

Define Fuie.

Canliy QevssemtliLi(h S 5.
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10.

11.

12.

13.

How do define an array ?

auflengaener steueunm| eSleuflling ?

How files are classified ?

Canliyser eteueunn euenasliL(OSSLILOE NS ?

Give the usage of IF statement.

IF-euns&lwgdlest Liwesmsiacoser 61(Lp&IS.

Part 2 (3x12=36)
Answer any tnree questions.

How High level T.:anguages are better than Low Level

Languages ?

2 wifkleves Sl eteueunm Srpns Hleneo Glmdsenens
sM1g0w Cubu®dng ?

Write short notes on BASIC program.

Guenila BlreSlemwit unm) e1(LpG15.
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14.

15.

16.

17.

Give the difference between GOTO and ON GOTO

statement.

GOTO aursdlwgengwo ON GOTO sursdlugengubd
Caumu(®sd) s1_(Hs.

Write a program to add two numbers.

@Qrewi(h eTvmTHEMET Fal (heusnHwHres Hred eesenm

6T(LPSIS.

How do use GOSUB tta.ement ?

GOSUB eunsdliisensg steuaunm LweL(DSgieug ?

Give an example for FOR and NEXT statement and

explairais execution.

FOR .wpmib NEXT eunjgengseflen 2_grremgens gu

SIB60T Ol FWIOLIMTL_ 169687 6T(LDSIS.
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18.

19.

20.

21.

Part C (2 x 20 =40)

Answer any two questions.

Explain the working style of a computer.

sewflLiGlILmD) ClFweoL@BID (Wewmenws 6Sl6ms = 5.

Mention the uses of Computers.

senflLCLITBlulest LiweTTHemeT Fou)s.

Write a program to muliipiy two matrices.

Brevi(® e16vwT QufloosE Hyewflaemet QLIS EGHSDE Hred

QRETEDMD 6T(LPG!S .

Write _a program to print the sequence

0,1,1,2 5,5,8.......

0,1,1,2,3,5,8 ....... 61651 6TEvTTSEmeN euflenal LGS
flesor_ Glawiw Blred eettenm 61(1LpG15.

sk
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AFN-1410 BBE6M1/BTM6M1

B.B.E./B.A DEGREE EXAMINATION, APRIL 2011

Sixth Semester

Business Economics/Economics Vocational
(Tourism)
INDIAN ECONOMY—II
[Common for B.B.E./B.A. Tourism Mairagement]

(Non-CBCS—2004 onwards)

Time : 3 Hours Nieximum : 100 Marks

Section 2. (8x3=24)
Answer any eighu questions.

All questions cairy equal marks.

1. What are the objectives of Public Sector ?

Qurgs gempulten CHTSSHBIGET WTemeu ?

2. Explain Privatisation.
S6vfl Lty LDWILOTS360— 6l 6118 (S 5.
3. What are the problems of Foreign Aid ?

Sweonr_ (2 geil Gumieudled 2 eten Kyl enesaen

wmremey ?



Explain the significance of Foreign Capital.

SweonTL (D epeugengSlen (PpslwiGa euseng ellens@s.

Point out the factors affecting exports.

enmiwdlenws unds@wn srreflaenst @Dl (bhis.

Write a note on Balance of paymen’s.

Sweonr_(H Cless Hleneo LF MR GHDILL 6T(HSIS.

Mention the principal Cenimiodities of India’s export.

@nglurellest (paHw monrndll QunmLsenet GDILLN(H's.

Write a note va World Trade organisation.

2 608 aUiHa % Jjewli unm e GOILIL 6T(LPSIs.

What are the features of New Economic Policy ?

yHw Qunmenngny Q&nemenaullen S6mTemIDS6T WNeneu ?
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10.

11.

12.

What is “Second Generation Reforms” ?

“GreveTLmid Gemev(penn FrHl(HSSLD” 6T6ITMMED 6T6BTEH ?

What are the objectives of India’s Zconomic

Planning ?

@nHw Qurmenngny S gdlen wrslw Crrssmsen

wmremeu ?

Section i (3x12=36)

Answer any thee questions.

All questions carry equal marks.

Answer to eachrqucation in about 600 words.

Explain thewobjectives and methodology of

Disinvestment Policy.

s LTI (S 69 6V & 5 60 Q & meitemn & ud sv1

CrsshIGEETILLD F60T (PENDILTSESSEHen6uT|Ld 6568 Es.
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13.

14.

15.

16.

Describe the problems of Foreign capital. Also mention

the forms of Foreign capital.

WKL (D) PPEVSEBISS|6IT 61EDHSHHENEU|LD STLOMBISHENEITILD

eNlens @ s.

Discuss India’s Balance of payment posiion after 1990.

1990-1b gyewrign@Giesr @ndutienless HweoBTL (H&
Qs Hemevenwit LpM eFs ndlsHa]|b.

Explain the impact ot "World Trade Organisation of

Agriculture in Ind:a.

2 08 UHES HneiensSlened @rdHlw Geuermevr

gleomullev e (heTem ellemeneysenst a6 @s.

Criuically evaluate New Economic policy.

yHw Qunmenngry Cametensullenes SN Hs.
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17. What are the Pre requisites of successful planning ?

Qeupmiarwres S L sHnarer (e Fal igw CHemeuser

wmremeu ?

Section C (%2 x 20 =40)

Answer any two questiors.
All questions carry equaimaozk.
Answer each question in abou* 1:900 words.

18. Examine the causes for the growth of Public Sector in

India.

BOnHwneiled ClLngSa 501 Hnieuenmisefles euenj&dsanest

ST ETTTRIGHED6IT Y TH 1S,

19. Analyse the-ccle of EXIM Bank in India’s Foreign
Trade.

@ndlvs wenr (B eurewflugdleo EXIM eumidlufies

LIBISlemest 2y rmiis.
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20.

21.

Explain the objectives and functions of World Trade

Organisation.

2 608 aIf5HFS emwliL Hineiensdlen Crrésmaensmu|w

uewflaememujid eXlens@s.

Critically evaluate the Tenth Five Year ’lan.

LuSSTeug MBS TewwI(H L glen CawesourBaener

LEANR G
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AFN-1411 BBE632

B.B.E. DEGREE EXAMINATION, APRIL 2011

Sixth Semester

Business Economics

INTERNATIONAL ECONOMICS

(Non-CBCS—2004 onwards)
Time : 3 Hours Mazia am : 100 Marks

Section A (8 x3=24)

Answer any eight.questions.
All questions carryv “caal marks.
Answer to question in ebout 150 words each.

1. Whatis Internationai+rade ?

LiesTeuTL_ () 6uTeriiii 6T6BTMTE) 6T6TTEVT 2

2.  What is the law of comparative advantage ?

QUL _(n& Glgeveys Camun(n etestmed eTestes ?

3. What do you understand by factor abundance ?

snyewt] 0@ b STESTLILIL 60 6T6dTLIG60 OlLIM(HET 6T6vsT60T ?



What is free trade ?

FemL_uileon eumewflLID 6T6vTLIG) 6T6vTONT ?

How does deflation help in increasing exports ?

LewTeumL_L 1D eTeueunm egomindl ydlasflunsmng 2 g6l

Qawdlng ?

What is arbitrage ?

elemev Geummiemio eumemflLiid =ermmev eTevtewT ?

What is tariff ?

sl eufl eTenTLIg! caiTew ?

What is compound duty ?

QemerialOunm eulfl eTesTLIg,) eT6vTES ?

Define Commodity Terms of Trade.

uesoT eunenflL 6555568 Qo068 68D &(1HS.
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10.

11.

12.

13.

14.

Give the meaning of SDRs.

SDRs etetrLigest QLIM(b6T S(1HS.

Write a short note on GATT.
GATT -upp) &msswrs GNILL 61(p&Is.
Section B (3x12=36)

Answer any three quections.
All questions carry eqaual marks.

Answer to questions in abaut 600 words each.

Write the advantages of :tudying International Trade.

uenestL_ (Rt QlLimmpaticiel &HLS6sT BesTemLg:e wremeu ?

Analyse the relationship between Terms of Trade and

Econom:ic Growth.

eunewiiU oigs5Hn@Ww, ClunmeTngny euemjEsl&H@Hw 2 sern

QamL_renL gy Tmis.

Explain about the fluctuating exchange rate.

wrnflern wrHmn eisw unBl eSeufl.
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15. Describe the state intervention in foreign trade.

Qeueflpm_ (B eunewflugglev Hrdlent semeoui(d umnl efeurl.

16. Explain the difference between freetrade and

protection.

sewLuleon eunenfllusHM@GWL, Ggryn urgsridnsEw

Ben_Gw 2_etem CoumiLim_emLe 6,768 E3.

17. Make a critical appraisal ot the working of IMF.

usstest_(p B Hmierensdlen uewflast LpB Smestmiiey

Q&swis.

Section C (2 x 20 =40)

Answer any two questions.
All questions carry equal marks.

Anrswver to questions in about 1,000 words each.

18. Examine Hecksher—Ohlin theory of trade.

veesm_(h eumenflud GNS5S Canmseasy - eedles

Car_um_enL gy rmis.
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19. What is dumping ? Critically examine the method of

20.

21.

dumping.

GNGH60 eTeTDTED 6T6vTenT ? (GG SHE0 (Lp6OM S 6w 61
Fpesniie ClFuis.

Distinguish Between balance of trade «iid Balance of

payments.

SAqWOBT_ (B eumenflu Hlemev. wOHMID Hweokr (B

QeansgBlener CoumLbSa, e

Describe the role of International Monetary Fund in

enlarging internadional liquidity.

uenestiL_(p firsowg Seenwenwt s fla@n Clawedeo

uestestm Q- Ng Himieusnsdlen LikiSlenen eleufl.

dkokok
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AFN- 1412 BBEGE1

B.B.E. DEGREE EXAMINATION, APRIL 2011

Sixth Semester

Business Economics

Optional —-DATA BASE MANAGEMENT CYSTEM

(Non CBCS—2004 onwards)
Time : 3 Hours Mazia am : 100 Marks

Section A (8x3=24)

Answer any eight.questions.

sTemeu GuignIld 61 (Bl a2 2 M&a Eh @) ellemL_wierf]

1. Define Data items:

DATA ITEMS —-eusnywimy.

2. Expand RDBMS.

RLSMS effley upsas.

3. Write down the syntax for ACCEPT command.

ACCEPT sL_L_ensmulilest auenruiennenwl 61(LG).



Mention the use of Read Statement.

READ & L_ensmullest Liwestuimn_iqement GBI (D).

How to make use of CLEAR command.

ety CLEAR s L ewmemenw LiweL(DSs Geuesur(Ribd

Why SKIP Command is used ?

esnans SKIP sl Lewem Lwenu@BEng

Write the syntax for if .. ¢lse ..., end if command.

if ..., else ..., end.if-=’. L_ewenmulletr euemmwienmenw 61(LpGI.

What is theuse of DISPLAY statement ?

DISPLAY sl Lenen stemans Lwetu®Eng ?

Write a program to subtract two numbers.

“ Qrewr() etevmHMEn” HPFFHH OQFLuFNHE T

CUEDTIIEDD 6T(LPSIS.
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10.

11.

12.

13.

What are Records ?

RECORDS etestmnev etevtent ?

Give any four Database Applications.

Gz 4 556160 OFTGLILED6TSH Mg

Section B (3x12=36)

Answer any three questions.

sTemeuCuwien)d e edTmy ¢ Vovriis & ETHa ) ellenL_wierfl

Briefly explain the eincepts related to DBMS

DBMS sbuigeien flev stememmmaenen Sn @olly

6T(LPSIS.

Compare LIST and LIST ALL command with example.

LIST &@w LIST ALL &@w 2 sten Geumiuim_iqenewt

2_SNTETSSIL 651 Snll)|S.
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14.

15.

16.

Write down the syntax of TEXT . .. END TEXT with

example.

TEXT . .. END TEXT &L enemulles euewijienmenw

2_GM6TTSHSIL_60T 61(LDSIS.

Develop a simple program to calculate the total price
of a product [ TOTAL PRICE = UNIT - PRICE *
QUANTITY]

@@ Ounmefler Cwrss. vgremaanw &evwr(H Llig.5560

FOLBSIONS 61 QUEHTILTNEDU 6T(LHSIS.

[ TOTAL PRICE: = UNIT — PRICE * QUANTITY]

Prepare a Journal for any Company.

einaasdnGg (GHUY sasEGU 4S5ssD)
JOURNAL g -gwny Glgwis.
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17.

18.

19.

Create a database structure for Bank and also insert

5 records.

unIHSETS @ Jemwlienu SWTfles mbg ude|sener

Cersaawb.

Section C (2 x 20 =40)

Answer any two questions.

sremeuCGuignid reT® eNlevnasahe @ eflewLwierfl

Explain the advantages of Relational Database

Management systeri (RDBMS)

RDBMS-6st hinemtigsenst edleuflégea] .

Descrike the following commands SORT, CREATE,
APPEND, LIST with suitable example.

SPHETTL_ HL_L_6D6THED6T 2_SHNTEoTSHS]L 68T 6T(LDSIS.

SORT, CREATE, APPEND, LIST
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20.

21.

Write a program to prepare 10" marksheet for any

student.

10-1b eu@Liy wHUGILIETT LI 1qU16) DTETTEUEnI&HE) SWTT

QlFWIEUSN (&) (I CUENTUIEND 6T(LDSIS.

Explain the DO-WHILE command in detail with

suitable example.

DO.. . WHILE sL_L _enstenuw s sryesniggiLevt 6Xl6ms@s.
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